2. SO FEER SO PRI - RSP FRIE HAMEH R R R (551~23)
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4|7 7V B O DK EETE 1,457 56 1,513
57 VIS — (PAFATI)) 2TV 21,230 21,230
6|7 ZUNEE2—EREF L TF )L 14 0.088 14
T 2INERI N~ =T F )V 3,122 4.5 3,127
8|7 VU NMRAT 1.7 21,230 0.62 21,232
97 7)u=R 3.2 11,355 12,161 23,519
1077001 5,914 36,660 201,327 1,693 41,831  3,354] 10,964 301,743
L[TIAEF NI A 6.7 6.7
12]7 R AT ER 0.39 27,257| 201,474] 1,223,661] 9,052 176,384 278,432| 14,619]19,568 0.12 23,399| 1,973,846
137 Eh=FL 8,277 3,297 20,478 32,052
147 B L7 IR
157 F 75
162, 2" — 7V EALY T Fu= )L 0.071 1.9 2.0
A =T =P 1.8 1.8
187 =Y 5.6 250 255
19[1=737-9, 10—7t 5% /v
202—T73)xTH ) —)L 15,233 2,310,313 2,218,209 4,543,755
21[pm)F 32,070 32,070
22|7 47 a=L 11,423] 2,630 14,053
BG—TI)T=)— 86 86,
24| AH =TI )T = )— L 172 172
25 AN TV 17,930 17,930
26]3—73I/—1—Fu~X
27| A5 3bE 165,198 36 165,234
28| 7ILT La—L 3.0 3.0
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N yanF L)L =AJ T F—h
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45| =F F A=
46| X P aky S =F )L 13,356 13,356
47| T HIRA 25,215 25,215
48]EPN
19| TFAAHY 139,669 139,669
50D F—h 55,408 55,408
51|2— TF L~F P 2,825 8,816 11,642
527 F=HNT 34,120 34,120]
53| F LB 4,208,271 625,386 6,246 5,743,721 38,342 2,756,345 104,499 35,725 293,421 3,655 3,282 3,307| 13,822,201
54[AF T P —h 67,271 67,271
55| =F LA
56| TF L AFUR 67,771 22,664 90,435
571|l=F Lo )a—NE /)T )Lr—F )V 65,971 30 66,002
58| F L I Va— LT AF L E—T )L 4,603 21 4,624
59| TF L VT 1.6 3.0 4.6
P <o PURERE 419 2,925 9,294 12,637
215,150 215,150
2,119,668 2,119,668
63/ 27 7 uIk 118,360 118,360
[ ES S A=00 59,737] 4,763 0.002 64,500
[GIES=A= =19 P 4.0 4.0
66[1, 2— =X TH
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I~ AIFUBlal BREBE KR T~ 27
015 B1b% B AR A 1,642 1,642
T1 AL — 8k 26 26
79 BAERTT 42 (RBH3100>513HETD
HO R OZDIREMICED, )
[1—F25 )= 9.0 0.092 9.1
TG —FIFNT 2 ) =)L 41 41
15| IRV LR OZEDEY 1.4 116 1.9 845 1,512 2,477
6| AT nr—hTFas 5 48 75 124
1IN T LT FIN
78[2, 4—FTL /=)L
792, 6—FL/—L 118 118
80[F L 6,148,612| 746,157 24,401 52,110/12,122,151]4,456,478 196,084 10,951,531] 315,766 180,633 802,819 14,619 11,648 3,235 17,097| 36,043,342
81 /) 0.004 27 27
82 ff O D KIEMEAL AW 1,596 1,161 2,020 4,777
83[7 A 50,181 70 57,428 159 107,837
847 VAFH—1 0.16 0.16
85| WVHANLT AT ER 3,008 3.4 3,012
86|71 — 0.33 6,971 300 7,272
87|70 LK O —Ali7 v LAY 478 3.0 1,219 905 3,233 917 6,754
88| AfiliZ LML A 103 103
89|71 912 912
907 TV 56,629 56,629
I TFVv 19,352 3.0 19,355
92V 7 = EFR 21,144 21,144
93[AhTF7m—/L 72,638 2.8 72,641
94| il =1 1,361 73 1,434
957 NT I I 87,133 156 87,289
96|27 x/aF /) —L 7,403 7,403
97]1—ur—2— (raAFL) B
98| ik 0.050 0.050
99|/ nufERE = F /L 245 245
100/ 7L F72a—)v 102,683 0.66 102,683
101[77 73— 143,636 143,636
102|1—7nn—2, 4— Y=~ ¥
103[HCFC —142b 286,710 286,710
104]HCFC—22 2,686,900 2,686,900
105/HCFC —124
106/ HCFC — 133
107|CFC—13
108[ 227y 7 84,585 84,585
109 AV h—2mahLo
11035 —Zmaflxz
111|12—7au—4—=fr7 =~
112|2—Znu=fa~ B
NEICE 7,494 7,494
A5 )77 7,998 1.4 8,000
1157 = FHIF 36,818 36,818
L[ ~F L F TV IA 1,030 1,030
7772ty = 53,845 211 107 54,164
118]37u7F=)1 2,274 2,274
197 x> Ta)y—)L 10,979 10,979
120/ AV b—rra 7= /)—)v
121N —/aa7=/)—
122|2— 7o 7oA @
12357V 14 14
124[73vmv 17,270 17,270
125|7an~ By 10,055 71,344 1,566 1,405 84,370
126]CFC—115
127|7aaR/V A 12,604 59,359 14,369 1,461 87,793
128 |$fifbAF LV
129/4—7ur—3—AFNTx/—)V
130 MCP
131[3—7rE—2—RAF )L —1—Fa~
1322 VR OE DA 2,299 2.4 65 11,428 60 13,855
133 ;:i//ﬁu: VE ) ZF )N T—T T & 60,343 0.67 60,344
134 |FEfRE = /L 31,187 21,792 212 53,192
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S
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139|FF AR 333 1,310
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141 23,418 23,418
142
1434, 4’ — VTV T == VT —F )V
S RS 7
144 ﬁﬁ*ﬂ%jT”E”% R U7 e 2,673 273 14,559 17,506
1452— (P FNTI)) B )—)v 32
146 |[EVIRAAF /L
47| F A~ AT 63,780 63,780
14817 =2 Aha—L 36,948 36,948
IRCIEER[ES 8.8 8.8
150]1, 4— VAX T 1,759 3,761
151[1, 3—oAX ST 18,006 18,006,
152 INE YT 99,776 99,776
1537 R AR 32,312
1543 70~F L L7 I 15
155|N— (27 ~F S VFA) T F AR 347 517
156> 7aary =y
157|1, 2— Y /an=gy 2,286 2,340
158 Hifke =V 7
159 A—1, 2—Y/mpnzFL
P L e e e
VAR
161/CFC—12 438,475 438,475
16270l 19,872 19,872
163/CFC—114
164|[ICFC— 123 98,726 98,726
165/2, 4—Y7ralbTy
166]1, 2— Y /an—4—=Fa~ Py
167]1, 4— op—2—=pa~ By
16847y 38,987 38,987
169 m 56,318 56,332
0T o=y —v 3,378 3,378
171 [7aEaF 7 — 27,624 29,897
12X F o ra iy 14,910 14,910
R P2
174V == 121,936 0.94 121,937
1752, 4—D 131,287 131,287
176/HHCFC—141b 760,394 760,394
177|HCFC —21
178]1, 2— Y77 o, 2,248
179D—D 8,326,894 8,326,894
180(3, 3" —Y/nnu v
1812 7am~ By 30 7,053,000 1,446 7,107,463
182 13,072 13,072
183 116,568 116,572
1840 70~=L 149,178 149,181
185/HICFC — 225 659,949 659,949
186 HiftAFL > 1,823,804 2,449 1,826,253
18710F 7/ 83,958 83,958
188|N, N— U 7a~k UL 7S 0.50 0.50
189 |No N=TS7anF oL —2 =T FT
S —IVENT =TI
190[0s 7n~ s Fowy 0.31 0.31
914 TaF 45 93,792 93,792
192/ =5 47 =2 IRA
193| =F NV F A AR
194 R
195 70 F A A 59,572 59,577
196 AF 7 F A~ 78,481 78,484
197~/ 82,274 82,274
198 P A= —F 4,920 14,921
199|CIZ L AL AT 1260 29
200 ¥=hrhLT
2012, 4—>=ba 7= /—)L
202[CE =By
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ZELLF i . WH g | PR B #
20307 == T 127 0.83 128
204[PT ==L E—F ) 0.59 0.59
205(1, 3— VT == AT T =D
206 H/VARANLT 7 4,302 4,302
A 351 4,953 6.1 6,523
208(2, A=Y —F—XV—TFAT=)—)L
2097 BE AR AS 26,495 20,036 46,531
210(2, 2— V7 BE—2— 37 )T BN IF 2,000 2,000
211/~ —2402
212[7 7 =—F 233,256 233,256
213|N, N—AF AT LT IR 8,919 882 234 10,034
214(2, 4—IAF LT =D
215(2, 6—VAF AT =Y
216|N, N—IAF AT =D 0.47 59 60
207 FAIT A 16,892 16,892
218[TAF LTI 139 0.48 140
219[PAF NI AN T 4R
200[PAF N TF A TN TED K IETER
21|~ TFHNT 30,810 0.54 30,811
2027 = ) FAHNT
223|N, N—UAFARF AT
. 3,701 1,101,972 12,209 1,117,882

225N 7Lk 19,550 19,896
226[1, 1= IAFLERTIY
227/35a—h 76,320 76,320
298 3,3 —CAFAET == —4, 4 —DA

N=UAIVT R—h
229|F A7 7 F—FAF L 346,795 346,795
230|N— (1, 3=V AF LT FN)—N —T =

SW=NFG—T ==L DTV
231 Ak — )P
232N, N— PAF LHA LT IR 965,238 965,238
2337z h=—h 84,044 84,044
234 RL5% 6.3 6.3
235 | 5 kD KA 0.012 0.012
2367 AAF =)L 41,790 41,790
237 AR CZ DB 58 1,253 1,736 3,047
238|KFLT VT ==V
239 HHEAXLEY) 209 209
240 AFL 138,966 1 538,569 55,028 38,949 131,361 946,684
_— 2—ANAINFH T B — 1 —AF VTR

TV NID LM
242 EL U R OZDILEY 0.35 4,704 0.24 4,705
243 A AF M 40,786 40,786
244|157 A 2,767,717 1.0 2,767,717
245 FH IR 0.010 2,464 2,464
246|F A7 =/ — )L
247|EZ 7R A
U8 FTAT V) 288,199 2.4 288,253
249 70 /LE YRR 59,367 59,367
250 AV FHFF A 25,687 25,687
2517 ==haF4> 322,433 17 332,449
2527 = F AL 5,384
253|707 = JhA 5,160 5,160
254 AFB_URA 6,579 6,579
255| 7 T REY T =) T—T )L 75 0.24 75
256|771 ik 14 247
257|771 )—)v 93,412 15 93,427
258 ~FHYAFL L FRTIL 121] 41,374 30 41,525
259[CANT 4TI 843 843
26070k n=,1 279,743 279,743
261[7H AR 90,287 90,287
2627 hFrmnFL L 201,579 292 2,478 204,349
263/CFC—112
96422 3, B, 6=FFF7AR— T =%

Jv
2657 hTER AT VKT LR
266|7 7 VR 13,901 13,901
267 FATANT 17,222 17,222
268/ F V71 626/ 252,250 252,876
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270/ 7L 7 ZViE 0.045 0.77 0.82
21T LI INED AT IV 0.010 0.010
272§ K Vs (Bt A FR<. ) 254 3,660 4,122 1,084 5,633 14,754
273 N~V —RT VAT ha—) 18 5,912 63 5,993
24| —V XV —RT A FA—N
2T5|F 7 YV ViR R Y A 7,881 13,802 4.4 1,766,545 673,159 2,461,391
276| 7T TFL L~ HI 111 980 1,090
21T [N =FATIV 10,008 62,847 72,854
278[NJ=F L ThF3I 199 1,834 2,033
279|1, 1, 1—KN)Zmrxz
280(1, 1, 2— K>z
281|NznnrFL 490,617 286 3,474 494,377
282N 7 no FERE 65 161 225
283(2, 4, 6—hJyur—1, 3, 5—FT7 Vv 958 958
284/CFC—113
28570 sy 6,667,137 6,667,137
286 hY 7L 15,989 15,989
287|2, 4, 6—RN)/nnr=/)—N
288/CFC—11 741,077 741,077
2891, 2, 3—Nrrarm/
290[RN)Zra~ B 258 258
1, 3, 5—hA(2, 3—=HFLFut L)
291/ —1, 3, 5— N7V —2, 4, 6(1H, 3 98 98
H, 5H) — A~
292[N) T FATIV 417 417
293[N 7 VF) 136,278 136,278
2942, 4, 6—N)7BET = /—)V 4.2 4.2
2953, 5, 5—FJAF /L —1—~FH /—/L
296[1, 2, 4—RNIAF LU BV 1,198,441 22,793 26,214 28,657 1,562,995 15,649 5,363 61,660 2,921,771
297/1, 3, 5—hNIAF LB 487,867 9,365 7,147 1,589,727 40,436 900,031] 38,182 44,209 81,898 2,410 5,988 3,207,259
298[NL L PAY YT F—h 175 175
299[ LAV 1.5 6,055 6,056
300/ L 10,126,880 1,481 85 540,270] 6,910,763 362,727 70,25019,253,090[ 470,569] 272,049/1,003,955] 10,964[10,102 22,253 768| 39,056,206
301 ML T I 231 231
302[F7HL 110,766 46,111 57 88,000 19,434 1,358 265,727
303[1, 5—FFHL L PAN=DAI> T F—h
304[$1 2.8 2.8
305/ §nfb & 431 1,389 5,621 2,842 8,592 18,875
306] 7 ZUNFEA~FHAFL 6.6 143 149
307| “H{LRRMEY L a=0 A
308/ =v /L 0.053 265 265
309/ =y /LAY 197 283 76,150 1,336 3,292 81,259
310|=h) o —HFfE 52 52
3l AAb—=baTr=y—)
312[A N h—=baT =
313|=has Uty
314|857 —=horoo~ ¥
3154/ h—=krhLT
316/ =ha~ ¥ 23 23
317[=haRF 5.2 B2
318 _fifbiRF 37 269 306
319/ N=)v— )= VT va—)
320 /=T x /)= 1.5 12 13
2 AFITMEAEY 4.0 2,607 5,822 151 8,584
5 —[N, N—E2Q2—TE&FrAFT =
FM)TI]=2"—(2=TBE—4,6—
£ =hE7 2=V TY) =4 — AR T RS ot 2,18 SN
=K
323/ AR 16,002 1.9 16,004
394|L 83— EALR2, 3—=RXTuEM) F
FIREB
325/ A% 4 246,726 5.9 246,732
326707 = F T
327]1, 2—EX(2—ZuRr7 ==L )EFTI
328[PF 4 123 13,152 128 13,403
329|ARY 77—/ A—h 172,451 172,451
ERA(1—AFN—1—Tz=VTF)L) =
330, s o 736 0.86 737
331 [HAHHA 20,535 20,535
332 |t M OO AL AW 0.001 578 0.30 324 391 1,294
333[ERT Vv 153 153
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2P an v cl BT 5 B 54 E B
334[4— bR Z B HFMBAT )V 352 352
335|N— (4—ERE s 7 = =) 7 LR 73R 45 45
336 LR /> 154 L177 1,332
337 N—1— ra~Fty
338
339
340
341 2,391 2,391
312 7] 203 247
343\ Ta—n 1.3 1.3
344|T7 2= VA F LT
345|7 == VERTV
346]2—T==NT =)0 1,616 1,616
347 IN— 7 ==)L<=L 43K
348 ==L DTy 322 322
349 7= ) — 0 2,806 178 1413 1,397
350/~ L AR 11,553 8,529 20,082
3511, 3— 7 HVE 15,700 42,017 580,145 13,626 47,666 283,519 14,619/26,839 50 1,034,081
352| 7 AL T UV
353 7 HLEED T T L 1.0 1.0
3547 AABEY — I~ — T F I 910, 1,839 24,360 27,110
3557 SR A (2— = F L ~F L) 11,119 1,236 12,355
356| 7 HNEE /NN — T F =D)L 387 387
3577 S =Ty 16,003 16,003
358|777« )R 5,390 5,390
359 IV —TF)N—2, 3—TRFT T
lat="57
360~/ 99,880 99,880
3612 oy ST T 61,091 61,091
36207 Jx FIEY 13,100 13,100
363 AXF U7 I 16,176 16,176
3647 > L0y A—F 3,568 3,568
365|BITA
3665 — ) — 7 F L —LFa A AR 2.0 2.0
367 AN D—EHLH)—TFNTx )=/
368|144 —> )T FNTx )L 20 15 %
369|701 L b 16,002 16,002
370[CUF~ 6.778 6.778
31177 7= B 1,320 1.320
N=(F— A V=T F ) —2— oS FT
32 xR 2,031 2,031
373 2—H =¥ —TF ) —5—AF LT x
/=
374| S AL KT S O D AT ESL 135.482 739,673 129.777 1,004,932
3T5]2— 77 F L
376| 72 o0—/v 131,457 131,457
37775
378| Far xS 181,860 181,860
379]2—Tary — 1A 5.0 5.0
380~ — 1211
81T HEDIREATY 35,815 11,671 17,516
382 L — 1301 11,765 11,765
383 T e 94,960 5.0 94,965
384[1— T oS 376,402 376,402
385)2— 7 mET /i
386] EL{LAT L 121,518 121,518
387 B (L7 = THAR
3882 R AL T 7
389 I’\?ﬂﬁT SNV I S EE =) 308 53,074 12,218 65,691
300 ~FYAFLL DT I 0.030 0.030
391 29 0.019 29
392 LIl — ~F 2,020,042 113,680 165,330 3,830,878 90,281 3 6,792 6,227,035
393[~FF T h—/b 1.9 1.9
394/ <YV LI OZ DL A 850 850
35|~ A %Y — AR AKTATER 212 242
396|PFOS
397 <L VTy =N ZalR
398 b~ UL 0.53 0.12 0.66
399| <o X7 LT ER 0.18 8.988 250,060 8386 24,349 17,062 3,655 13 316,742
100/ <P 131,504 116 304214 35,061 4,057,617 139,237 279,081 509,053 14,619]28,328 162 18,787]  5.518.079
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40247 =F vk 34,378 34,378
40327 =) 0.28 0.13 0.42
404|~<F a7z )—)v
POBIESE S (wex?] 10,672 7,058] 1,584 1,420 1,502,641 1,523,374
406|PCB
R (FFT=FLy) =7 LFLT—T )L
407| (7 VA NVIED R ESI 123515 ETDY 61,928) 395,114| 1,323 16,537,147 915,240 17,910,752
Q&U%@?ﬁé\%!:ﬂﬁég )
408 i”_ﬁfi’lﬁ/” =ATFNT == 4978 139,232 148 57,215 1,136 202,708
RY (FFL=FL ) =RFILz—F)L
109 s e o 1) 0, 5,221 619,868 3,698,400 1,077,264 5,400,753
410 ?'/)L(’H“/I%V/) /NI == 75,231 314,754 2,528 74,624 10,474 477,611
ARV LT LFER 1,003,830 21,984 104,441 52,742] 2,796,626] 27,153 796,223 837,715| 43,856| 13,472 146,632]  31,193]  6,776] 5,882,644
412\~ A R OZDILEY 123 1,417 1,024 241 1,315 4,121
413[BEAK T LR 66 0.36 66
414K~ L AR 0.65 1,650 61 1,712
415X H VUL 2,463 332 2,795
A16[AH VY L2 — = F L~F L 0.006 0.006
AT AZ VI LVEE2, 3— TR¥F T FuE L
[ RH VN2 — (PAFATI)) TF )L 1.8 2.1 4.0
419| A ZUVEE NV~ — T F )L 0.59 0.59
420[AH VYL EEAT L 39,128 10,602 561 50,290
RUA—AFVF AT eF —2—F>
4227 =)0 73,552 73,552
423 FFNTI 0.019 0.082 0.10
A28 AFN=AVF AT F—h 124,800 124,800
4254 T aINT
426[ I RT T
427 BN 43,230 11,590 54,820
4287 =) TINT 12,780] 18,089 30,869
129~ EALT AT L 8,621 8,621
430[ AR FHFIANT 1,760 1,760,
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